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PART - A (General Intelligence & Reasoning).

Q.No: 1 Fillin the blank: 1, 2, 6, 24, 120, ___
R wm R 1, 2,6, 24,120,

Q.No: 2 Which number does not belong:
i A1 = 9 2 A8 8
123

123
213

213

312
312

Q.No: 3 BistoEasDisto:
B, E ¥ 34! yehR Gaifdd & S W D:

‘

Q.No: 4  All metals are good conductors of electricity. Copper is a metal. Which conclusion can be drawn?

goft ey e < ar=e! gareres gid! 8| i ot Ush o91g 21 399 1 R ke ot dahdl 872

Copper is not a conductor

qieT g el &
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Copper is a metal only

GIEIEEE R G

Copper is a poor conductor

die Ueh T gaTeiad &

opper is a good conducto

Tel Ush H=81 YTelch

Q.No: 5 In each of these questions, a number series is given. In each series, only one number is wrong number. Find out the wrong
number. 2, 7, 25, 108, 531, 3193

T8 9 Uds 9o § Uah 9 ofEd &1 TS 6| s 2@l § hadl Uk WA TTeld ¢ | 7ol 9T 91d g 2, 7, 25, 108, 531, 3193
3193
3193

25

P
(%2}

108
108

Q.No: 6 If+ means -, + means +, - means x, and x means + then,
whatis30-5+ 10+ 5?7

gfe s amrad -2 cFad+ & -Faf <, aiRxFanf+ g A1
30-5+10+5Fmg?

150

150

155

155
160

160

Q.No: 7 Ineach of the following questions, a word is transformed into another word by applying a specific alphabetical pattern to each of its
letters. Identify the logic used in the first pair and apply the same logic to the second word to determine the correct answer.
FROST : ITQSR :: CHALK : ?

FAfefEd uder U H, Ueh U=g bl 38 Wclish H&R UR Ueh (A2 quinTer O @n] shich gae o< § Seell 7101 8| Ugd wils § Ugad ddh
i Ty ofk Wet I FrafRa o & forg St a9 &l g o W e fiferg)
FROST ; ITQSR :: CHALK : ?

KLPOR

KLPOR
GHOCK

GHOCK

HITME
HITME

Q.No: 8 Find the next term in the given letter series: AAGHGHGH, GAAHGHGH, GHAAHGHG, GHGHAAHG, GHGHGAAH,

&1 TS Q15X 2fREell H 3Tl US A1 hIToTg: AAGHGHGH, GAAHGHGH, GHAAHGHG, GHGHAAHG, GHGHGAAH,

GAAHGHGH

GAAHGHGH
AAGHGHGH

AAGHGHGH
GHGHGAAH

GHGHGAAH
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Q.No: 9 In the following question, a pair of words is given in capital letters, followed by five answer options consisting of word pairs. Choose
the option in which the relationship between the two words maost closely matches the relationship between the given pair.
PROFLIGATE : FRUGALITY
1. Mendacious : Truth
2. Ubiquitous : Presence
3. Punctilious : Detail
4. Gregarious : Solitude
5. Insipid : Flavor

fFfafed ey, 92 et & wr=si &1 ga g o man €, foress 9 e gt aTet uie 3 faeed oy g €1 9w e &1 99m fiferg
oo <t arel & oftw o1 Teiy g g g & o9 & ddy @ T fles A« @rar gt froerad : fAaefar

1. e o

2. e ; Iuffa

3. oS | fAwga

4. BoaR ; Uehid

5. 40 @E

Ubiquitous : Presence

gejeardt : Jufeafa

Insipid : Flavor

Mendacious : Truth

THefamET : 9

Q.No: 10 Statements:
1. No pens are pencils.
2. Some pencils are erasers.
Conclusions:
|. Some erasers are not pens.
Il. No pens are erasers.

U
1. =h1S O U 181 3|

2. oo U AR gl
Fresd:

Lg@éﬁ‘vﬂﬁqﬂﬂ’f%l
I1. g O ISR 1 ¢
Only Il follows
hadl || TN edl §
Both I and Il follow
1 3R 11 T SrgERuT e §
only | follows|

chd el | STERUT &hedl g

Meither | nor Il follows

Tl | 2R T & 11 ITET AT &

Q.No: 11 Ravi walks 20 m N, right 30 m, again right 20 m. Which direction now?

e 20 ez 3% & @R, 30 Hex 21, e 20 Hiex e1d goar 81 g fehg RRam &7
West

afgH
South
g
Morth

3
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Q.No: 12 Anita is ranked 15th from the top in a class of 45 students. Sita is ranked 20th from the bottom. How many students are there
between Anita and Sita?

45 BTHI hi Tk shelT § atar it & 1541 e e 1 diar = § 204 ¥ 0 €)1 ertan of ian & o= o e &7

10
10
9

9
"

1"
12

12

Q.No: 13  Rohit is planning a special dinner to celebrate his wife's 40th birthday. She enjoys cozy, informal gatherings and loves Indian street
food more than fancy, high-end dining. Which of the following restaurants would be the best fit for her?

e Ul et & 408 S &1 919 B9 o fol¢ Ush sty i &t aiw1 2971 221 81 98 SIRHee, Huale THRIg! el g
il g 3 38 o, grE-Us STEiT @ wTer WRAdIY ¥ 5 UHe g1 Fefeied d @ 1 a1 Wi 356 foy e 9uge gim?

Spice Symphony features contemporary Indian fusion cuisine with an upscale modern ambiance and a focus on creative plating.

wrzy faeet § snyf-ies d1giel & QY a1l HIEdY WgeT o Ui Wi € SR TS WiéT uR e foan S 1

Tandoori Trails is a fine-dining restaurant specializing in North Indian kebabs and rich curries with sophisticated decor.

Al £ U S WieETed & S URthd TeTae & A1y 39 URAIT e iR @ifeE w8 uem o migs 81

Royal Rasoi offers an elegant dining experience with traditional Rajasthani royal cuisine served in a palace-like setting.

e THIE Teh Hgd oY FIdieRvl § ULy S aTel URUReh TSy Mgl &ut-| o 91y Ueh AHER Hie SHd Ve &l 8l

haat Chowk serves a variety of popular Indian street foods like pani puri, pav bhaji, and aloo tikki in a casual, vibrant, and bustiing
atmosphere reminiscent of Mumbai's famous street stalls.

w1 5
&1 g feerd g1

Q.No: 14 Eight friends (A to H) are sitting around a circular table. B is third to the right of A. D is second to the left of B. C is not an immediate
neighbor of A or D. F is sitting opposite to E. Who is sitting between G and H?

TG SR (A T H) T TR O & 918 iR S 61 B, A &g R A1 81 D, B &5 918 SR gER1 &1 C, A T D & dhean g =gt 81 F,
EFfamadeiglc e H F s Sord?

Q.No: 15 In each of the following questions, two numbers are given which follow a certain logical or arithmetic relationship. Identify the same
pattern and apply it to find the missing number in the second pair. Choose the correct option from the given alternatives.
15:30::25:7
fAfefEd uds ua § & g €1 3 § Wt us FfEa aifehas o sisnnford i defer o1 ured ahedt 1 3t te ot uganig efik ger s &

T TET A1 e o ol JHeRT WA dhifery | i5g 7y et 7 § gt ey g
15:30::25:7?
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Q.No: 16  Imput: dance, apple, zebra, kite, fan, bottle
Step I: zebra, apple, dance, kite, fan, bottle
Step ll: zebra, apple, bottle, dance, kite, fan
Step lli: zebra, apple, bottle, dance, fan, kite
Question: What is the logic followed in the above arrangement?

RO |: W=k, 9, g, U, U, didd

RO |1: W=, 9, didel, J, U, U
TROT |II: e, I, Side, g, U, T
WST: JURTard awT H ST deh 1O T 87

escending alphabetical order left to righ
1Y

Alphabetical arrangement from right to left
21¢ & |G Uriehitieh erawT
Largest word to left, smallest word to right in alternating steps

g F37 9T 12 3R, 99 SieT U= I-I1) ¥ 1 3

Descending alphabetical order with one word rearranged in each step

Welieh =RUT H Ueh 28 i YH: haield F¥d gy AHadigl JuiATer A

Q.No: 17
Karthik has the following profile:
Education: B.Sc. with 64% and M.Sc. in Chemistry (passed)
Experience: No teaching experience yet
Age: 23 years
Preference: Open to probationary roles
Eligibility Criteria for the Position:
Minirmum Age: 24 years
Maximum Age: 30 years
Educational Qualification: At least M.Sc. in Chemistry
Experience: Minimum 2 years in the relevant field
Probationary Roles: Open to candidates with less than 5 years of experience
Minirmum Marks in B.Sc.: 65%
Decision:
Based on the provided information, what is the most appropriate decision regarding Karthik's eligibility for the position?

uRgaa:

ifdies &l TS 39 UK ¢

T218m: 649 3! & TTy =.qT . ofk W fae= & va.ga . (3<if)
HHa: 37+t dek HiE fRrerul ewa A8

AY; 23 99

g uftdteimefa ST & forg gen

g, & g UTSar ArEs:

A Had g 30 99

Y1 gvaar: A 99 § &9 9§ 9 UH.99.91.

AV Gl &1 § 7aH 2 99

ufetemfiF iR 5 99 § 1 ey ard Iuear F o ger

=tgg . & gAan o 65%

foofa:

T &t T2 SRR & YR W, Ue & forg Fifde & amar & ar § 3 gugaa Aok = 82
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Q.No: 18 If Roll numnbers starting with 'A' are assigned to the Science stream, 'B' to the Commerce stream, and 'C' to the Arts stream, which of
the following students belong to the commerce stream?

HR'A' G YEEH A A AR &l FFA €W, '8' A EH AR 'C' Sl paEH & G mar g, Tt o d 4 sa asm
aforeT € & HEfta 22

8745
82745
A3572

A3572
C3489

C3489
A1258

A1258

Q.No: 19 | In a row of 8 seats, how many ways can 3 people sit next to each other?
8 dii T wak Uferd H, 3 @ Yeh g8 o aATeT A fehde ddichl & o6 Hehd 67

/2]

/2

36

36
48

48
54

54

Q.No: 20 Identify the number that is unlike the rest:
3G G &i Uga™ o g1kt § fO &
19

19
17

17
13

13

Q.No: 21 Ineach of these questions, a number series is given. In each series, enly one number is wrong number. Find out the wrong number,
4 .12, 42, 196 ,1005, 6066, 42511.

Ueh W H Uk T 3391 &1 T8 &1 Udieh Hegel J shael Ueh U1 TToid 1 Teid 6 T Hifergl 4, 12, 42, 196, 1005, 6066, 42511.
12

12
196

196

1005
1005

Q.No: 22 Meera has 70% in B.Sc., M.Sc. completed, 3 years Maths teaching experience, 25 years old, ready for probation. What should be
done?

HiRT & O St & 70% ofeh &, THeHHt O g1 9ehl g, 3 el ol AU UBH T 31gHd 8, 25 H1d @l g, WeaH & [y JUR g1 &1 &l
igy?
Refer Meera to Vice Principal

o1 ot 3U urERf & U S

Reject Meera

o1 &t iR S
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elect Meera directl

Refer Meera to Principal

i1 %! R & ure A

Q.No: 23 Ravi walked 8 meters north, turned right and walked 6 meters, turned right again and walked 8 meters. In which direction is he now
facing?

7 8 thew Ia= &t ok e, o 317 ge1 afR 6 Hiex =an, i 21y 27 ofi 8 Hiex Ian e a8 g Ren f ek dm @ &2
Morth

Eouh
AL
East

o

West

ufgm

Q.No: 24 Ramu said, "She is the daughter of the only son of my grandfather." How is Ramu related to the girl?
T A g, 98 AL SIeT & Seheild | Sl §ET 1" IH 1 IH ASeh] 9 T HaY g?

Father

o

Cousin

Bk

Uncle
EIEl

]

Q.No: 25 If Neha is facing south and turns 90° te her left, then 180° to her right, and finally 90° to her left again, which direction is she facing
now?

IR e =fer Y oft 48 awd @l & ofiv 90° a1 3R gt 8, O 180° o1 ek gaft &, ofR afaa: g=: 90° 91 ek g &, dt aw =g
forey feam 1 3R g Teeh @ 87
West

Morth

Soutn
cfa
East

o

Q.No: 26  Fillin the blank: 6, 24, 60, 120, _

oo = W1 6, 24, 60, 120,
170
170

110

110
200

200


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 27 Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
1. BRISK : DTKUO
2. CLOUD : ENQUF
3. FLAME : HMCOG
4, GRANT : HVCRV
5. HOUSE : JQwueG

Feferfaa uie A € 9r e Figd ®0 8 0o 9E ¢ oK 39ieiY U G5 391 8| I8 ohiF 91 8 Wl 99 998 § gefda 78l 87
1. BRISK : DTKUO
2. CLOUD : ENQUF
3. FLAME : HMCOG
4. GRANT : HVCRV
5. HOUSE : JQWUG
FLAME : HMCOG

FLAME : HMCOG
CLOUD @ ENQUF
CLOUD @ ENQUF
GRANT : HVCRV

GRANT : HVCRY
SRISK L DR CH

SRISK L DTELUCH

Q.No: 28 In a contest of 50 participants, if Amit is ranked 30th from the top and 21st from the bottom, what is the total number of participants
in the contest?

50 ufdifiral &t ges ufdgifiar A, afe affg ot & 309 wH ur ok A1 & 21d @9 wr €, &t ufagifivar & afdnfial & go g fhat
8?

Q.No: 29 Six people A-F are sitting in a circle. A is second to the left of B. C is opposite A. D is between C and E. Who is to the immediate right
of B?

TR A A F IR IO A 6 eI ABHFIN AR O WEI C, ARG R8I D, CREF TR e hdFmad FH E?

‘

Q.No: 30 A player holds 15 cards of four suits, of which eight are red and seven are black. The number of diamonds is twice the number of
spades, and the number of hearts is equal to the number of diamonds. How many clubs does he hold?

U fEesl & U TR ge & 15 &S g, [ & oo aret ofik a1 il 81 ER 1 dem g &) 9 4 g g, ofk e 1 den dR
YT o RIER §1 I8k UTH feha detel 87

‘
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Q.No: 31 In each of the following question, a pair of words (letter sequences) is given on the left-hand side of the double colen (::), which
follows a certain alphabetical pattern. Identify the logic in the first pair and apply the same logic to the third word to find the correct
corresponding word from the options.

FOX: FPY:: JAR:?

e uds v 8, 2ig2 die (::) & 91 3fiT 1] ol Ueh T (21eR &hA) fan man g, St v Ffga aufarear & &1 e ot g1
Ugel gH H deh Ugdii-g o I aek ol et 2reg R o] Feeh fdehed] A 4 gt @7d 2reg 1 iy

FOX:FPY:: JAR:?

OEI

Q.No: 32 Observe the following incomplete letter sequence carefully. A specific pattern governs the order and repetition of the letters.
Choose the option that best fills the blanks to complete the sequence logically and symmetrically. ab_dcb ab dc a

FArfeifed siedt 1R ojwgelr ot wH 4 3| 31sRl & oA R gl &t e fafde ded FafEa &gl
39 faered st g4 S Rad Rl el arfdher 3R ST ®U ¥ Q-1 &3 o (ol §a Juged g1 ab_dcb_ab_dc a
cabc

cabc
ccab

ccab
caca

caca
cacb

cacb

Q.No: 33 Ima 20 L mixture the ratio of juice to water is 3:2. How much juice is in the mixture?

20 oftex & Moy § 7 offt urt o aruTa 3:2 g1 Ao | fha @ @2
0L

10 ffex
8L

8 eftex

14L
14 offex

Q.No: 34 The sum of the ages of A and B is 46 years. Five years ago, the ratio of their ages was 4:5. What is B's current age?

A 3R B Tt Y =1 AT 46 T | U 96 Ugel, Ich! AT &1 IAF0Td 4:5 9T B 6T Id0T= g 1 87
21 years

21 s
20 years

20 ad
24 years

24 ad
25 years

TR,
o
EA

Q.No: 35 Ina group of 20 people, Anil is ranked 5th from the top. What is his rank from the bottom?

20 T & ge g & orfie oftdf & 59w 1R &1 A & SR E n g?
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15th

15 df
17th

17 &

14th
14 df

Q.No: 36 If3x+y=12and x - y = 4 what is the value of x?

gfe3x+y=12 R x-y=4 T x FIAA T &?

mmm ‘

Q.No: 37 Pointing to a woman, Ravi says, "She is the daughter of the only son of my father." How is the woman related to Ravi?

Teh Al &1 31X 32T et §Y U gl 8, a8 AR fiar & geheild ¢ &t 3¢ 31" =g #igen W 4 fhd wer wefea 87
Daughter

ey

Erl
Cousin
EEL
Uncle

=T
Brother

g

Q.No: 38  Read the following statement carefully and identify the conclusion that follows,
Statemnent: "Advertisements on social media have more reach than print media."
Conclusions:

I. Social media is more effective than print media for advertising.
1l. Print media is obsolete.

F=fafad e &1 e § ud ofik ey Fanred|

Y i Hifsar w Rt $1 ugd fiie #ifgar & s g
froenn:

1. fomtTu= & ferg diere difean i Hifemn 9 samer awrdt 81

11. fiie difsar amafea &1

nly conclusion | follow

IG-IQETU!EF{HT

Meither conclusion | nor |l follows

7 &t freee | afle A & 11 s T

Both conclusions 1 and Il follow

g1 FreeRe | 3fR 11 SERoT el

Only conclusion Il follows

chadl [5RY || SF[ERUT hedl §

Q.No: 39 In each of the following questions, a specific relationship is given between two words. Identify the word that shares a similar semantic
relationship with the given pair. Choose the most appropriate option from the four cheices given below.
surgeon : Scalpel :: Sculptor: ?

ffefed ude uy § &l w=al & o= e fafte ddy o ma 81 39 s &1 uggH difeiy it oy g gm & ary A o ddy gre
&dl g1 A fey Ty ar faeedt d @ ged Suged e gHg)
sreafafereTe : g4 1 gfder : ?
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iChse]

25
Plaster
Tl
Brush

EEU
Hammer

FHtsT

Q.No: 40  Find the ODD one out.
famm 7|

Cubd

]|

Sphere

e
Cylinder

IEEEL

Cone

UF

Q.No: 41 Which of the following conclusions can be logically drawn from the statement?
"All apples are fruits. Some fruits are sour.”

U ¥ dTfches ©0 4 Fofaa § € o= o e fRermen o 9erar 87
“goft 49 =l &1 O B g 81"

ome Truits may not be apples

Thel
Some apples are not fruits.

T 99 hdl 781 8l

All sour things are fruits.
Tl g =i e g

All apples are sour.

aft T g gl

Q.No: 42 In a certain code, "GAME" is written as "ICOG". How will "PLAY" be written in the same code?

U Afga Fis 8, "cAME" &f "IcoG" @ STar &1 ST SIS & "pLAY" ol &g forar srgm?

RODC

RODC
RNDC

RNDC
RNDA

RNDA

Q.No: 43 Input: blue 42 rose 71 violet 13 orange
Which of the following would be Step 3 if the logic is:

Step 1: Alphabetical arrangement of words from left

Step 2: Numbers arranged in descending order from the end?
gY<: blue 42 rose 71 violet 13 orange

e d s RO 3 gm TR aF 18 &:

IOT 1 ST Rl =TS OTR & FUIHTAT 7H # sae
0T 2: 3 ¥ fa<igl e § eoafed e ?

Blue orange rose violet 42 71 13

Blue orange rose violet 42 71 13
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lue orange rose violet 71 42 1

lue orange rose violet

Blue orange rose violet 71 13 42

Blue orange rose violet 71 13 42
Orange violet rose blue 71 42 13

Orange violet rose blue 71 42 13

Q.No: 44 A shop sells pens at INR 10 each and notebooks at INR 40 each. After a 10% discount on notebooks.A customer buys 3 pens and 2
notebooks. What is the total cost?

Teh g 10 w08 1fd U7 ofi 40 $Ud ufc Fiegeh sadt g1 e Uz 10% i Fe o 18, Ueh Tgeh 3 U iR 2 iege Ediad g1 §d ard
T 87
INR 96

96 TUd
INR 108

108 sud
INR 114

114 3ud
INR 102

102 syl

Q.No: 45 Find the next term in the given letter series: ZZPQPQPQ, PZZPQPQP, PQZZPQPQ, PQPZZPQP, PQPQZIPQ, .

&Y 77 S1&R sfiEe H el Ug A1 KIS 77PQPQPQ, PZZPQPQP, PQZZPQPY, PQPZZPQP, PQPQZZFQ,
POPOrZZ

PQPOPZZH
PQPQZZPQ

PQPQZZIPQ
ZZPQPQPQ

ZZPQPQPQ
PZZPQPQP

PZZPQPQP

Q.No: 46  What number will be present in place of the guestion mark?: 4, 18, 48, 100, 180, ?
UHaTE U8 oh T U i Of T Imuii?: 4, 18, 48, 100, 180, ?

0]
204]
254

254
374

374
374

374

Q.No: 47 Four of the following five are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
AFHJL
B.KMOQ
C.PRTV
D.ACED
EEWYAC

Frfied uia 3 & 9r ves [ =0 @ e 99 § oflt suioiv ues 99g 397d 81 98 i 91 ¢ 9 9U 9Hg 9 d9ida g1 87
A FHJL
B.KMOQ
C.PRTV
D.ACED
EEWYAC
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FHJL

FHJL
PRTV

PRTV
KMOQ

KMOQ

Q.No: 48 Input: 85 kite 23 lamp 62 brush
step 1: brush 85 kite 23 lamp 62
Step 2: brush 85 kite 62 23 lamp
Step 3: brush 85 kite 62 lamp 23

Which of the following describes the logic best?

g4e: 85 kite 23 lamp 62 brush

=0T 1: brush 85 kite 23 lamp 62
=0T 2: brush 85 kite 62 23 lamp
IOT 3: brush 85 kite 62 lamp 23

FrfeifEa § 9 &9 91 deh 999 30T 9uid &eal g7
Placing smallest word first; largest number second

gad BIET 2T Ugel WAL, T8 S8t HET g8 T U I&GHl

lacing words alphabetically from left and numbers in descending orde

EIY YT T e
Words on odd positions and numbers on even positions

e Tl U g, o1 96 T W e

Alphabetically placing words from start; numbers in increasing order from end

=G| T & T IR H TG-T; TS &l 3fd 9 S6d thd H T

Q.No: 49  Read the following statement carefully and identify the conclusion that follows.
Statements: All flowers are trees. Some trees are plants.
Conclusions:
1. Some flowers are plants.
11. All flowers are plants.

FAfefed dya &1 @ @ ud ok Fead Fared|
Fy: 9t et 03§ o Uz Ui &)
e

|.g@i3;—om’rﬂ§|
1. gt e ot B

| SR g 1| SITET el

Both I and 1l follow

1 3R 11 SHT ST e §
Only Conclusion | follows
chael oY | SIERUI 31 &

Only Conclusion Il follows

thaot oY || TR Redl &

Q.No: 50 P, Q,R, S5, T, and U are sitting in a row. Q is to the right of P but left of R. T is to the right of R but left of U. Who is exactly in the
middle?

P,Q,RS THRUTGRURITI5EIQ PHeE MR e R AE ARG T,RFEE IREAU S IE AR B S Ta F w87

‘
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PART - B (General Awareness),

Q.No: 51 Consider the following two statements, labeled Assertion (A) and Reason (R). Evaluate them and choose the appropriate answer from
the given options.
Assertion (A): India's participation in the Asian Winter Games 2025 will be unigue, as it will be the first time the government has
provided full financial support.
Reason (R): The government's objective is to enhance India's presence and performance in winter sports by ensuring fair and
meritocratic athlete selection.

HHYA (a) 3R FRUT (R) @ Rifgd Fefciaa &t Fuel o foar &%) 373 gedicd &L 3R 147 7Y et § & 3fa 3= 1)

SRy (A): gfims fiaereit= et 2025 F wRa & ¥rflert aifgda gift, F9ifs a8 ugelt ar ghm w9 Txar A guf fa<ia Jgmar rem
G|
HIOT (R): TRR &1 I627 Foagt offz ovaan enenfia quelic 9a+ gRAfga T dfidard= @l § vRa & suffd o vgefF &t Tgm 81
A is true, but R is false.
AT g, wifee R ST B

Ais false, but R is true,

A 3T &, AfRT R T &I

Both A and R are true, but R is not the correct explanation of A.

A 3T R ST O 8, A R, A &7 Tl TodteRu A8 &1

Both A and R are true, and R is the correct explanation of A.
A 3R R ST I €, AUT R, A T et TETHRI0 1

Q.No: 52 | The Nehru Cup, a prominent international football tournament in India, was last held in which year?

VR ® U IawIEg Gedid ghe Ag% ou et a1 g ad smaifera forar m 917
2007

2007
2012

2012
2015

2015
2018

2018

Q.No: 53 What are the streams of charged particles ejected by the Sun into space called?
g gR1 siafier & S12 1Y A= Huil i ari i 91 gl Srar g7
Sunspots

o & e

Solar wind

Coronal loops

EANEC IS U

Q.No: 54  Inwhich state is the folk music tradition of "Zikir" popular?
"ffeR" wieR Tifta oo fondt o § wiiehty 87
Assam

HHH
Gujarat
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Odisha

affgam

Rajasthan

‘

Q.No: 55 Which countries are members of BIMSTEC?
famaeaR(BIMSTEC) & Tet &9 & 21 g2
Bangladesh, Bhutan, India, Pakistan, Nepal, Sri Lanka, Thailand

FAATCRT, M, ¥R, Ullched, UTd, sficiehl, Useis

Bangladesh, Bhutan, India, Myanmar, Maldives, Sri Lanka, Thailand

IAATERT, M, HRd, TR, A4, Hieid, dEas

angladesh, Bhutan, India, Myanmar, Nepal, Sri Lanka, Thailan

2N, M, YRd, ”HR, e
Afghanistan, Bangladesh, Bhutan, India, Maldives, Nepal, Pakistan, Sri Lanka

AR, ST, YL, HIRd, HIeiG1d, HUTd, UTfded™, i

Q.No: 56  Which of the following is considered the oldest known civilization of the Indian subcontinent?
= F @ F-dt YR STAETE B uRiaE e @ 3 S 82

Gupta Empire

TG JETs

Maurya Civilization

T g
naus valey Cinzatio

P o

» 3 U]
Vedic Civilization

afew gwgar

Q.No: 57 Which of the following was a major effect of the 42nd Constitutional Amendment?

e § § 429 9iRum iy 1 U 9E i 91 91?

It abolished the Directive Principles of State Policy.

T e i & P RAgial =t aara < &

It increased the tenure of the Lok Sabha and introduced Fundamental Duties

3G AhT T ol hiehlel SGMAT 3fX Hifeleh ahdedl el U fokar

It introduced Fundamental Rights for citizens.

A AW o forg Hifoies Sifeanrl &hi & @i

t reduced the term of the Lok Sabha to four year.

LI hl Yclh? d g ch?

Q.No: 58  What shape does a population pyramid take for a rapidly growing population?
g 7fa & et saEn & fog saden fiems g oner &1 giar &7

Inverted triangle shape

Joe AW & R Sl e

Circular shape
gig TERR

| DE
[ECAlIRRSIEAL

Rectangular shape

AR HATFfd
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Q.No: 59  Which of the following is not a Maharatna company as of 20247
FreferfEa § 4 &1 2024 99 9gR ol 8 87

Hindustan Copper Limited
TEge &R eiffids

ational Thermal Power Corporation Limite

EIGES 1
Qil & Natural Gas Corporation Limited
d ud urpfaes 19 A fifaes
Steel Authority of India Limited

et HUTRE T 3 fafaes

Q.No: 60  What was the recommendation regarding entry of foreign banks in India?

0 T feréaft sfenf & waer &t oiehe 9Afa = o RAwrfeer 6 ot

Allow foreign banks to operate freely

fadaft ¥t =t = =0 & rf e & argEfa &

Restrict foreign banks to urban areas

fardaft et ol chae 2T &= 0o Oifta W=

Ban foreign banks in India

wRd & faesft Sof uw ufass amn

ncourage foreign banks to expand operations in Indi
HRd

Q.No: 61  Which constitutional amendment is known as the "Mini Constitution"?
-1 HegTies ety "oy "fagr" (Mini Constitution) & ®9 # SITET SIIGT1 87
52nd Amendment
5247 Hidyr Hartea
44th Amendment

42 nd A

24th Amendment

24qt garted

Q.No: 62 Which of the following statement(s) is/are correct regarding the Bharatiya Nyaya Sanhita (BNS)?
1. The Bharatiya Nyaya Sanhita introduces community service as a punishment for minor offences.
2. The scope of summary trials has been limited to only serious offences under the new law.
3. The reformative approach aims to ensure societal reintegration of offenders.

URHE =g Gigar (fiee) & gy # FEfefea § § w9 o sue 98 82

1. VR O/ fgar & sR-Ate st & forg arerfis dan @t &2 & w=u F dar feean man g1
2. 7Y SIA < dgd HIed 1S o ST hae TR oerf oo Siffd & fear man g1

3. YURTH B! I I5,39 AUTIG! T AAToich YehiaeoT GATET He 2

1 and 2 only
chad 1 aflR 2

1 and 3 onlyj
chae] 1 3% 3

2 and 3 only
had 2 3R 3

1,2, and 3 all are correct

1,2, 8T 3 woft ot €

Q.No: 63 The cell uses internal compartmentalization to manage its complexity. Which of the following best reflects this idea?

ehIfRTeRT AT FfeerdT &l WEidd & & iU anaf¥es e & s & g o d d am o sa e & oo et ag 4
garaT 87
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Organelles in eukaryotic cells float freely without any specific role.

gFRafee wifdremalf F Fifdrs fam frd e e s @@ Tud A @IS

rokaryotic cells use multiple membranes to isolate cell activities

AhHTY AT Eal
Eukaryotic cells have membrane-bound organelles that separate different functions

gehiRaiiees ifarenta # Ereed! & =9 37T gid & i faT™¥= FTal &l e &id &

All cellular functions occur in the same space without any separation.

T iR s =T Rt gueesor & e g = W gl 8

Q.No: 64  What was the key scientific objective of Chandrayaan-3?

<gaT-3 1 UHE dlli-Ich 3239 41 U1?

o demonstrate a safe lunar landing and rover operatio

L TeA hl UE2
To study Mars' atmosphere

TS UG o ITgHSH ol 37 Hee]
To measure gravitational waves
T AT 2hT ATIA el

To orbit the Moon

<1 T T # gH

Q.No: 65  Which of the following plateaus is located in the northeastern part of India?

f=fofad 4 9 &iH9-91 UsR ¥Rd & gdi= 4 & (@4 g?

Malwa Plateau

HIeldT UaTX
Deccan Plateau

qareh- UoTE
hota Nagpur Platea

Shillong Plateau
RIS ToR

Q.No: 66  Which of these is not a feature of Indian federalism?
frfeiiEa § @ e-|1 vRd "uare & fagvar 18t g2

Independent Judiciary

WdF ARATcTeR

Written Constitution

faifa dfaam
150 ]

Division of Powers

orferrdl &1 farwme

Q.No: 67  Which of the following statements is NOT TRUE about Rash Behari Bose?

g fagrdl 99 & ar | fAmfofaa § @ &9 91 e gt 781 87
He founded Indian Independence League in Tokyo in 1942,

I5iH 1942 ¥ Tt § R TaAaT ol 2l TIUAT |

He was an important figure in the Ghadar Movement and in the formation of the Azad Hind Fauj.

ag 153 el 3R 3 fde wist & e # Uah Agayul =id 4

He was honoured with the prestigious title 'Order of the rising sun'.

3¢ ufafla Smfe etk offt g wefSi o= & gonfaa o man

& was independent India s first Commander-in-Chief of Indian Arm
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58 =d7 YRG & §uH YR S FHiS-3H-91% o

Q.No: 68 At what orientation does a rotating coil in a uniform magnetic field generate the maximum induced EMF?

UhHAM Hachig &5 H gUi Shecdl g8 Gsc! fhe afAfamamra Ut sifdiehan URd EMF I Fid! 572
When the coil’s plane is at 45° to the magnetic field lines

T St ol e i & T & 45° W gl §

When the magnetic flux through the coil is maximum

e dhaet & ATeH & gadhig yare sfddan gt g

When the coil’s plane is perpendicular (90°) to the magnetic field lines
T 5] o1 el Gehiy 81 et & w9ad (90°) g1 8

When the coil's plane is parallel to the magnetic field lines
el gSefl 1 del Sk 8 IS & FHAIGR idl 8

Q.No: 69  Which of the following statements based on the Union List entries is/are correct?
1.The Parliament has exclusive power to legislate on lotteries conducted by both the Central and State governments.
2.Matters related to the incorporation and requlation of cooperative societies are included in the Union List.
3.The Reserve Bank of India, foreign exchange, and currency are all under the legislative domain of the Union.
4.Parliament can make laws regarding corporations whose activities are not limited to one State, excluding universities.

g gt nfafedt w ameia afafEs 4 @ a9 @ w5 ad 882

1. 92 & U &z 3R T50 WRER! g1 Smaifod dfedt IR A 9911 o fadie offaR 21

2. Tear aftfadt & e ofik Bftoas & d@Efe omet 9a =t § anfie 8

3. vRdE e <, faft ger ok gz vt T & Rurh Sfder & siafa emd €

4. Tae 39 Ferdl & 9 A S a1 HeRd! g SRt niafaiiat RyReneat i otge e oo 9 diffa 78 &)

only 1,3, and 4
thad 1,3, 2R 4
only 2 and 3

thad 2 3R 3
Only 1 and 4

Ghad 1 3R 4

Il four statements 1,2,3 and 4 are correc

TR A 1,2,3 3R 4

Q.No: 70  Which Indian-American author wrote The Namesake, later adapted into a film?

org wRdig- s viaes 7 & A9de fordt, (598 =1e & fived | wuiaia foran mar?

Kiran Desai

oo 34mS
-

o e

Arundhati Roy
a5l g
Chetan Bhagat
AqH W

Q.No: 71 Who became Indian Navy's first womnan fighter pilot streamer on 3 July 20257

3 FelrE 2025 1 WRATG 81 FH1 uged! Afge hger Urdeie EIH & a2

Vidya Singh
IEEIREE

Meha Sharma
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g1 amf

Aastha Poonia

AT g

Q.No: 72 What does the term “checkmate” refer to in chess?

e | "SRie” 2158 o 9T AT BT 87

%] o] 9HI

Invalid move

AT AT

A draw

e &l WhiT ()
A win

G

Q.No: 73 Which of the following pairs is correctly matched?
fFfafea # 9 &F o gm ag gRiaa g7

Plasmolysis - Gain of water by plant cell

AT - Ute <hi shifRient g1 ot &1 ey

Cell wall = Composed mainly of protein

iR A - g su A ida @ aft gl 2

ellulose - Provides structural strength to plant cell

o - q HAATHh 2Aiek] UG &hedl
Plasma membrane - Located outside the cell wall

AT el - S R & e Radd g

Q.No: 74 Given below are the Assertion and Reason, choose the correct options regarding both the statements.
Assertion (A): Seasonal agricultural practices, such as stubble burning, have no significant impact on AQI levels in India.
Reason (R): Stubble burning is a controlled practice that doesn't release substantial pollutants into the atmosphere.

A= F ofk R Ry 1Y €, 41 Sudl & ded | Tgl faeen 79
Y (A): ORIt ST St HiaHT Sl uglfadl &1 YRd # AQl T UR i Hgayui UHIE AE1 uSdl gl
HROT (R): ORIl STt Geh it wen & & argiaa § vafe uewe =8f siedt 21

A is true, but R is false.

AT, AfFT R I ET &1
Both A and R are true, but R is not the correct explanation of A.

A 3R R g T §, aifdhd R, A o1 Tt Tudfieeu 481 81

A is false, but R is true.

A 3G 8, oifh R T 81
oth A and R are true, and R is the correct explanation of A

R O 5, dUT R, A &l

Q.No: 75  The concept of "opportunity cost” in economics refers to:

YR " 3R A" &l AJTURUT 4 910y 8:
The value of the next best alternative forgone when a choice is made.

STl Sl gATE [eRaT ST & o 3Tel Wai=d fdehed o Hed @7 fear ST g1

he cost incurred in the past that cannot be recovered

98 @nd il
The cost of all alternatives that are not chosen.
39 Tt fereredl <ht @nTd foieg At o T g

The monetary cost of the most expensive alternative.

g 7gN ey &Y Hifge anrg)
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Q.No: 76  Which confederation of Sultanates defeated the Vijayanagara Empire in the Battle of Talikota?

drfeiehiel g & AT R 9Ey &l WRIfoid &= alel Godd] o HY ol 19 1 912
Rajput Confederacy

Telyd €9

Mughal Empire
HITeT HET
Bahmani Sultanate

Q.No: 77 What is the purpose of the two-day Hands-on Training Workshop on the e-SAKSHI Portal held in June 20247

T 2024 # g-mieft uia W smitee o e annagiiies AiieTor SRisne o 35 @1 8?7

To demonstrate biometric tracking of MPLAD assets

qAiergd uReaRd Y sreiAfe 2T o Hes

To train officials on the revised fund flow procedure under MPLAD Scheme

TATIE il & sfarta Gaifaa e garg ufthar ox siftraifat of wfdfead e

To launch a new e-commerce platform for district development
oren faer & oY Ue 137 3-h1Y Wiehid @iied el
To train MPs in drafting local development plans

T G giee o1 g9ier 3R 3 8 9i9e] o uiLie &

Q.No: 78  Which of the following is a characteristic feature of the Western Coastal Plains?

Fafafea § @ F=-4 fadwar ofded a8ig AT & ogam 82

Mangrove forests

B0g a9
High rainfall
118 ]

Large deltas

ot g &7

Lagoons and backwaters

BT o dFaTR

Q.No: 79 Which temple, built by the Chandela dynasty in the 10th-11th centuries, is known for its exquisite sculptures?
10at-114fF arar=dt § e adsn g1 fAfia & 31 /4l Aot Iepe gidal & g S S g2

Kandariya Mahadeva Temple
TheThaT Agred Hfex

Brihadeeswarar Temple

e AR

un Temple, Modher

Lingaraja Temple

feimerer Afex

Q.No: 80 Inwhich year did UNESCO recognize Durga Puja as an Intangible Cultural Heritage?

T 3 vy o T T Y o i BRI & w9 # AT A
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2015

2015
2019

2019
2021

2021

Q.No: 81 Which Indian state was the first to benefit from the Green Revolution?

VR | 'gRa wifd’ 1 FEuyd 14 {58 I3 S 0Te g ur?

Haryana

giamon

Uttar Pradesh

IR W™
Rajasthan
EG LR

. H

EmIE|

Q.No: 82  Which of the following statemenits is/are correct?
Statement I; A bank’s main liability is the deposits it holds.
Statement |I: Open Market Operations involve buying and selling government bonds.
Statement |Il: The Bank Rate is the rate at which RBI lends to commercial banks.

F=fafas § @ &9 @ Fu= ad 2/87

TUA |: S T O AT ITH g T TS SR &1

T |I: G TR URETE H TehR] 918 GeT 2 =01 anffe g1
T |II: ¥ &2 98 2% & f99 W rB| a0 o & 3ur a1 1

Only Statement Ill is correct

thad Y |1l TgT §

|l and Il all three statements are corre

i Il chi-
Only Statements | and Il are correct

had v | AR TE E

Only Statements [l and Il are correct

had Sy | AR 11 Tt &

Q.No: 83  Kathak is a classical dance form that developed in which region of India?
HYSH AT Fg ell TR o o &1 A faierida gs?
Southern India

HMELE o]
fortherm Indd

R ICG
Eastern India

Tt vRd

Western India

afgrt wa

Q.No: 84 Which government body was responsible for implementing the Technology Mission on Oilseeds?

et o1 WreitffieRt e ol @] s i Smier e aeer deur ! |idt 18 off?

Ministry of Defense

&1 HATeTd
Ministry of Commerce
aiftrey HATe

Ministry of Education

f2ren Harem
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inistry of Agricultur

Q.No: 85 Read the statements given below:
Statement 1: The Constitution of India divides the legislative subjects into 3 lists, namely the Centre, State and Concurrent List.
Statement 2: The subject of 'Protection of wild animals and birds' is transferred to the Concurrent list from the State list by the 42nd
Amendment Act
Statement 3: only the Parliament of India can make laws on the subjects under the Concurrent List.
Which of the following statements given abave is/are correct?

i e 7Y Syl & ue:

FUF 1: ¥RA & Al e vt 31 3 gt & Rafea o 8, syl &, T ofk awad! g
FHYT 2: 'S TG AR ularl & HRerT o fawy i 424 Haitea Ao gRT s g O 9aadl g9 § wEiaRd e g
Y 3: Shad R ol €4S &1 Hadl Gl & dgd [9ua! UR S &1 Gehd 1 81

TR Ry e s @ arad g/

Only Staternents 1 and 3 are correct

had wuT 1 3R 3 TE &

All three statements 1,2 and 3 are correct

gfidTEuT 1,2 R3Gd &

Only Statement 2 is correct

SadhuT 2 9gl g

nly Statements 1 and 2 are corre

HY 1 2

Q.No: 86  Which Pratihara ruler successfully repelled Arab invasions in North-Western India?

IAT-UIYH HIRd # e ARHAVT i AhadIydd [dhel S alel UIdgIR 2THeE @i 87
Magabhata |
ANTHE TUq
Rajyapala

ATl
Vatsaraja

FoHI

Q.No: 87  Which of the following phenomena occurs when a wave passes through a narrow slit?

ST &hig o9 fondlt Hehiof g @ 1ol g df Fifeiiaa & & i it ger vfed gidt 82

Refraction

e CRE|
Reflection

- e

BIRIEE]
Absorption

e ERlL

Diffraction

[ECGE!

Q.No: 88  What is the primary purpose of the Insolvency and Bankruptcy Code (IBC), 20167
fegrar offz T ate wfgar (18C), 2016 1 WHE IEw T 87

To regulate stock market investments

2R IR e ot T e

To promote foreign direct investment

T fagaft Faer &t oienfga s

To simplify the process of resolving financial distress in businesses



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

To provide protection for startups from financial harassment

wWIEa ot fa<iig iiwur & ST &1

Q.No: 89  Which AQI range corresponds to “Unhealthy for Sensitive Groups”?
i €t aQ) Suft “daeier gl o oy srarse” 9 A 9rdl 87

101-150

101-150

(151-203

151-203

0-50

0-50
51-100

51-100

Q.No: 90 India's primary interest in developing Chabahar Port is to:

IEER S0 & e § v & mufis 5[ 8

Establish a direct naval base for military operations in the Persian Gulf.

IR &Rl @1Et & &= sffamE! & fog g st e Aigr @nfua A

Gain direct access to Afghanistan and Central Asia, bypassing Pakistan.
UTTeh%dT el ZXfehTR &Xd Y SRITI-EAT 31 He QIRran deh |l g O el

Develop a new tourism hub for its citizens.

AU AR & oY Uen a1 ude &g fAenfaa &)

Export agricultural preducts exclusively to Iran.

iy ITe! 1 Fafd &, iy &9 3 53 &)

Q.No: 91  The Aspirational Districts Programme (ADP) focuses on:

TRl foreT e () Pefaf@a m SRa &

Developing industrial clusters in backward regions

foes &= § ofteifias aeredl &1 ey e

Providing subsidies to small-scale industries

oY e ot AfstEt ve s

Improving governance in urban areas

ergdt &5t & mama & gur A

nhancing development in underdeveloped district
EFEH

Q.No: 92 Given below are two statements marked as Assertion (A) and Reason (R). Read and mark the correct options:
Assertion (A):
The Bharatiya Nagarik Suraksha Sanhita, 2023, promotes e-filing and virtual trials to expedite the justice delivery system.
Reason (R):
The integration of technology aims to reduce case pendency and enhance accessibility to justice.

i &t Fy= g o €, [ srfiery (A) ofR @mor (R) & wu F Rfge e man 1 a3 Resat & ud ok Rfga =%
iRy (A):

WY AnTReR GRa digar, 2023, =g fEazor wurrel! 7 et o & foig €-wigfei i agfer grae ot ggmar &t 21

wHRT (R):

TNl & GehIeheUT 1 SE3d widd ATHw el S ST AR U1 deh UgH &l i1 gl

oth A and R are true, and R is the correct explanation of A

R S g, dUTR, Achl
Ais false, but R is true.

A 310 B, oifdh- R GT Bl
Both A and R are true, but R is not the correct explanation of A.
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AR RN O € @ R, A &1 T T 72 21

Ais true, but R is false.

AT g, AR R o Bl

Q.No: 93  Consider the following statements regarding the Ghaghara River system:
1.The Ghaghara originates from the Mapchachungo glacier in the Himalayas.
2.1t forms a deep gorge at Shishapani before entering the plains.
3.1t merges with the Ganga at Allahabad after receiving the Sarda River.
Which of the above statements is/are correct?

HTERT €T HUTIw & Hey | Fr=faiEy syEt ok far Sifeg:

1. \TeRT et fgmrera | Aot R € Rt 21

2. og Bert geret 8 uder e & ugd fterarit & ua medt e st &)
3. U8 UREI 94! § e o d1g gengiame | 7 7 e rdt g1

Ioad Syl B O & O1/a uEl /87

only 1 and 3

had 1 3R 3
Only 1 and 2

thael 1 AR 2
Only 2 and 3

had 2 afie 3

1, 2 and 3 are correct

1,23R34g 8

Q.No: 94  What was the role of the University Grants Commission (UGC), established in 19567
1956 & Tita RsyfErneg srem g (UGc) o g e = off?

To regulate trade agreements

TR GHE &l FfEa &

To promote agricultural development
Y 9 &t Hicied &

To manage industrial policies

afferifirer ifaat &1 ueeE

o oversee and fund higher education institutions in India

Q.No: 95  Which level of the Panchayati Raj system operates at the village level?

U 6] Ul &bl ehil 9T T 7Tid &R UL i ahedl g7
Panchayat Samiti

Tarad afEfy
Zila Parishad

St uftwe

DIEREIEG]
Gram Sabha

UTH AT

Q.No: 96 Which body is responsible for reselving disputes related to the election of the President of India?

WA o APUfd o Fale deddl fRarel ot gersm 6 Seier e e 6 &2
Election Commission

faf== amai

U Al (I=IdH Ty,
Lok Sabha
GIER
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Rajya Sabha
TS

Q.No: 97 What is the name of India’s first reusable hybrid rocket launched by a Tamil Nadu-based startup?
affeTg [T wéay gRI @i-d kg 717 WRA & ugd 4= Wiy gI3fEs e oht A 1 87
AGNI-V

- v
RAKSHA-1

&T-1
VAYU-1

ag-1
RHUMI-1

-1
NotAnswered

Q.No: 98  Which major reform was introduced in the National Education Policy (NEP), 20207
93 Ty e A (NEP), 2020 o siarid w=-H1 U YR @11 1/1?

eplacement of the 10+2 system with a 5+3+3+4 structur

0+2 T T 5+3+3+4 AT o]
Elimination of private schools
Ftt et it gt
Compulsery Sanskrit education

TxRd e &t aifFerd =

Mandatory board exams for all grades

Tt srenal & forg St oditen aifard e

Q.No: 99  What is the role of the Foreigners’ Tribunal in the NRC (National Register of Citizens) process?
AR (g Amies Tiorey) uithar & fad i o =arnfeerzor T aam e gidl &2
To conduct the Census

FITOTAT Rl
Ta issue voter 1D cards

HdEd] UgHH U Sl & gg
o deport illegal immigran

7S] HETIHE] chl (DA el

To verify citizenship claims of individuals excluded from the NRC

QATRET ¥ |- gY eAfaad! &ht ANTReRdT &t O &t

Q.No: 100  Which ISRO centers participate in International Geosphere-Biosphere programme?

SR spptee- et e 4 5 % 9 AR 87

ISRO Headquarters, Space Applications Centre, National Remote Sensing Centre, Vikram Sarabhai Space Centre

U I, SdiReT SUAn S, TP Gox Taed e, [amd ares sfaRe g

Space Physics Laboratory, National Remote Sensing Centre, Indian Institute of Remote Sensing, Physical Research Laboratory

Siafier Wit Taane, TP o Tde the, ARATT ¥ Haed SR, Hifde SrEU uaiame

Physical Research Laboratory, Space Applications Centre, Indian Institute of Remote Sensing, ISRO Satellite Centre

ifeleh AT WL, idRar IuTHT dhg, WRATY YaX Hae- SR, T8 IUUE e

Space Application Centre (SAC), Indian Institute of Remote Sensing, Space Applications Centre, National Remote Sensing Centre
SraRer SFIFTATT 3% (TEGH), SR Gog Haa TR, SiaRer srgEi &, I R Haed I

PART - C (English Language and Comprehension)
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Q.No: 101 Transform the following sentence into active voice.

The royal sword is said to have been transferred to a new museum where it would have been preserved properly.
Someone is said to transfer the royal sword to a new museum where they would have preserved it properly.
Someone is said to have transferred the royal sword to a new museum which they would have preserved it properly.

Someone is said to have transferred the royal sword to a new museum where they would preserve it properly.

omeone Is said to have transferred the royal sword to a new museum where they would have preserved It properl

Q.No: 102 Read the following passage and answer the questions based on the passage:
Wildlife conservation has increased in importance since governments and NGOs have realized that locals are vital guardians of the
environment. instead of mandating top-down orders, successful initiatives recruit villagers to protect threatened species, serve as
informants, and generate income from ecotourism. In other parts of Africa and Asia, community rangers are taught tracking and first
aid, while women's organizations produce handicrafts out of sustainable forest products, These programs not only restrict poaching
but also create ownership and pride in the maintenance of biodiversity. There are still obstacles, however: low funding levels, human=
wildlife conflict, and uncertain land-use rights can undo success. Continued dialogue between stakeholders and equitable
benefit-sharing mechanisms are essential in guaranteeing that conservation outcomes are directed to community well-being.

What is the primary focus of the passage?

Criticize eco-tourism for harming wildlife

Explain how poachers operate

Advocate for stricter government enforcement

Q.No: 103 Read the following passage and answer the questions based on the passage:
Wildlife conservation has increased in importance since governments and MGOs have realized that locals are vital guardians of the
environment. instead of mandating top-down orders, successful initiatives recruit villagers to protect threatened species, serve as
informants, and generate income from ecotourism. In other parts of Africa and Asia, community rangers are taught tracking and first
aid, while women's organizations produce handicrafts out of sustainable forest products, These programs not only restrict poaching
but also create ownership and pride in the maintenance of biodiversity. There are still obstacles, however: low funding levels, human-
wildlife conflict, and uncertain land-use rights can undo success. Continued dialogue between stakeholders and equitable
benefit-sharing mechanisms are essential in guaranteeing that conservation outcomes are directed to community well-being.

In context, the phrase “top-down regulations” most nearly means:

Rules created by local villagers

olicies Imposed by higher authoritie

Guidelines developed by scientists

Suggestions from tourists

Q.No: 104 Read the following passage and answer the questions based on the passage:
Wildlife conservation has increased in importance since governments and NGOs have realized that locals are vital guardians of the
environment. instead of mandating top-down orders, successful initiatives recruit villagers to protect threatened species, serve as
informants, and generate income from ecotourism. In other parts of Africa and Asia, community rangers are taught tracking and first
aid, while women's organizations produce handicrafts out of sustainable forest products, These programs not only restrict poaching
but also create ownership and pride in the maintenance of biodiversity. There are still obstacles, however: low funding levels, human=
wildlife conflict, and uncertain land-use rights can undo success. Continued dialogue between stakeholders and equitable
benefit-sharing mechanisms are essential in guaranteeing that conservation outcomes are directed to community well-being.

According to the passage, which activity helps villagers earn income?

Poaching endangered species

rafting handicrafts from sustainable product
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Clearing forests for agriculture

Mining minerals

Q.No: 105 Read the following passage and answer the questions based on the passage:
Wildlife conservation has increased in importance since governments and NGOs have realized that locals are vital guardians of the
environment. Instead of mandating top-down orders, successful initiatives recruit villagers to protect threatened species, serve as
informants, and generate income from ecotourism. In other parts of Africa and Asia, community rangers are taught tracking and first
aid, while women's organizations produce handicrafts out of sustainable forest products. These programs not only restrict poaching
but also create ownership and pride in the maintenance of biodiversity. There are still obstacles, however: low funding levels, human-
wildlife conflict, and uncertain land-use rights can undo success. Continued dialogue between stakeholders and equitable
benefit-sharing mechanisms are essential in guaranteeing that conservation cutcomes are directed to community well-being.

Which challenge is NOT mentioned as affecting community conservation?

Human-wildlife conflicts

Inadequate funding

Imate change

Unclear land-use rights

Q.No: 106 Read the following passage and answer the questions based on the passage:
wildlife conservation has increased in importance since governments and NGOs have realized that locals are vital guardians of the
environment. Instead of mandating top-down orders, successful initiatives recruit villagers to protect threatened species, serve as
informants, and generate income from ecotourism. In other parts of Africa and Asia, community rangers are taught tracking and first
aid, while women's organizations produce handicrafts out of sustainable forest products. These programs not only restrict poaching
but also create ownership and pride in the maintenance of biodiversity. There are still obstacles, however: low funding levels, human-
wildlife conflict, and uncertain land-use rights can undo success. Continued dialogue between stakeholders and equitable
benefit-sharing mechanisms are essential in guaranteeing that conservation outcomes are directed to community well-being.

The tone of the passage is best described as:

Pessimistic

Objective

Sarcastic

Q.No: 107 Read the following passage and answer the questions based on the passage:
Good public transpert networks are the pillars of urban sustainability. Buses, trams, and metro lines can transport big groups of
passengers without relying so much on private cars—and therefore eliminating traffic snarls and emissions. Integrated fares across
modes of travel make it easy to move around: one ticket could pay for bus, train, and bike-share travel. Spending money on exclusive
lanes and priority signaling also makes them faster and more dependable. Nonetheless, constructing and retaining such
infrastructure requires capital and long-term vision. Equity issues are also important: lines need to serve low-income communities
along with commercial hubs so that all citizens have a benefit. Finally, when properly planned, public transportation promotes
economic efficiency, social mobility, and a cleaner city.

What is the central idea of the passage?
Public transport is outdated in modern cities

Investment in roads for private vehicles is more practical

Ii stroni iubhc transiort sistem 15 essential for sustainable and inclusive Cltle_

Public transport is mostly beneficial for tourists
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Q.No: 108 Read the following passage and answer the questions based on the passage:
Good public transpeort networks are the pillars of urban sustainability. Buses, trams, and metro lines can transport big groups of
passengers without relying so much on private cars—and therefore eliminating traffic snarls and emissions. Integrated fares across
modes of travel make it easy to move around: one ticket could pay for bus, train, and bike-share travel. Spending money on exclusive
lanes and pricrity signaling also makes them faster and more dependable. Nonetheless, constructing and retaining such
infrastructure requires capital and long-term vision. Equity issues are also important: lines need to serve low-income communities
along with commercial hubs so that all citizens have a benefit. Finally, when properly planned, public transportation promotes
economic efficiency, social mobility, and a cleaner city.

According to the passage, integrated fare systems:

Create financial burden for low-income riders

ake switching between travel modes easie

Are only for long-distance travel

Encourage use of private vehicles

Q.No: 109 Read the following passage and answer the questions based on the passage:
Good public transpeort networks are the pillars of urban sustainability. Buses, trams, and metro lines can transport big groups of
passengers without relying so much on private cars—and therefore eliminating traffic snarls and emissions. Integrated fares across
modes of travel make it easy to move around: one ticket could pay for bus, train, and bike-share travel. Spending money on exclusive
lanes and priority signaling also makes them faster and more dependable. Nonetheless, constructing and retaining such
infrastructure requires capital and long-term vision. Equity issues are also important: lines need to serve low-income communities
along with commercial hubs so that all citizens have a benefit. Finally, when properly planned, public transportation promotes
economic efficiency, social mobility, and a cleaner city.

As per the passage, what is needed to maintain strong public transport?
Minimal regulation

Frequent tech upgrades

utficient funding and long-term plannin

Higher taxes on private vehicles

Q.No: 110 Read the following passage and answer the questions based on the passage:
Good public transport networks are the pillars of urban sustainability. Buses, trams, and metro lines can transport big groups of
passengers without relying so much on private cars—and therefore eliminating traffic snarls and emissions. Integrated fares across
modes of travel make it easy to move around: one ticket could pay for bus, train, and bike-share travel. Spending money on exclusive
lanes and pricrity signaling also makes them faster and more dependable. Nonetheless, constructing and retaining such
infrastructure requires capital and long-term vision. Equity issues are also important: lines need to serve low-income communities
along with commercial hubs so that all citizens have a benefit. Finally, when properly planned, public transportation promotes
economic efficiency, social mobility, and a cleaner city.

How does public transport contribute to equity?
By keeping fares high

By focusing only on commercial zones

connecting low-income communities with wealthy areas

By offering free rides on weekends
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Q.No: 111 Read the following passage and answer the questions based on the passage:
Good public transpeort networks are the pillars of urban sustainability. Buses, trams, and metro lines can transport big groups of
passengers without relying so much on private cars—and therefore eliminating traffic snarls and emissions. Integrated fares across
modes of travel make it easy to move around: one ticket could pay for bus, train, and bike-share travel. Spending money on exclusive
lanes and pricrity signaling also makes them faster and more dependable. Nonetheless, constructing and retaining such
infrastructure requires capital and long-term vision. Equity issues are also important: lines need to serve low-income communities
along with commercial hubs so that all citizens have a benefit. Finally, when properly planned, public transportation promotes
economic efficiency, social mobility, and a cleaner city.

What is the tone of the passage?

Skeptical
Neutral
Aggressive

Q.No: 112 In the following question, & sentence with a blank is given, followed by five words labeled (1), (2), (3), (4), and (5).
Choose the word that fills the blank appropriately in the context of the passage.

The truth of the self-conscious individual lies not in its immediate certainty, but in the dialectical movement of its becoming.
Consciousness, in its pursuit of knowledge, initially assumes that its object is something external and independent. Yet, through the
labour of experience, it discovers that this object is not truly separate but (1) by consciousness itself.

The apparent duality of subject and object is thus sublated in the dialectic, revealing that knowledge is not the passive reception of an
external truth but an active process in which consciousness shapes and (2) its own reality.

This movement unfolds through a series of contradictions, in which each stage of consciousness, believing itself to have attained
certainty, encounters its own inadequacy. The master-slave dialectic exemplifies this: self-consciousness seeks recognition from
another, yet in asserting its dominance over the other, it paradoxically (3) its own freedom.

The master, in reducing the slave to a mere instrument, deprives himself of a fully realized recognition. Meanwhile, the slave, through
labour and self-transformation, attains a deeper awareness of autonomy, demonstrating that freedom is not given but achieved
through negation and (4).spirit (Geist) emerges as the reconciliation of these conflicts—not a static substance but a dynamic
process of self-realization. Spirit unfolds historically, manifesting itself(S) in institutiens, culture, and philosophy, gradually moving
toward absolute knowing. This historical progression is not linear but dialectical, driven by the negation of old forms and the
emergence of new ones.

Use the appropriate for of the verb to complete the sentence. (1)
Mediating
Mediated

has mediated


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 113 In the following question, a sentence with a blank is given, followed by five words labeled (1), (2), (3), (4), and (5).
Choose the word that fills the blank appropriately in the context of the passage.

The truth of the self-conscious individual lies not in its immediate certainty, but in the dialectical movement of its becoming.
Consciousness, in its pursuit of knowledge, initially assumes that its object is something external and independent. Yet, through the
labour of experience, it discovers that this object is not truly separate but (1) by consciousness itself.

The apparent duality of subject and object is thus sublated in the dialectic, revealing that knowledge is not the passive reception of an
external truth but an active process in which consciousness shapes and (2) its own reality.

This mevement unfolds through a series of contradictions, in which each stage of consciousness, believing itself to have attained
certainty, encounters its own inadequacy. The master-slave dialectic exemplifies this: self-consciousness seeks recognition from
another, yet in asserting its dominance over the other, it paradoxically (3) its own freedom.

The master, in reducing the slave to a mere instrument, deprives himself of a fully realized recognition. Meanwhile, the slave, through
labour and self-transformation, attains a deeper awareness of autonomy, demonstrating that freedom is not given but achieved
through negation and (4).spirit (Geist) emerges as the reconciliation of these conflicts—not a static substance but a dynamic
process of self-realization. Spirit unfolds historically, manifesting itself(5) in institutions, culture, and philosophy, gradually moving
toward absolute knowing. This historical progression is not linear but dialectical, driven by the negation of old forms and the
emergence of new ones.

Choose the suitable option to complete the sentence.(2)

Transports
Interrupts

Disabuses

Q.No: 114 In the following question, a sentence with a blank is given, followed by five words labeled (1), (2), (3), (4), and (5).
Choose the word that fills the blank appropriately in the context of the passage.

The truth of the self-conscious individual lies not in its immediate certainty, but in the dialectical movement of its becoming.
Consciousness, in its pursuit of knowledge, initially assumes that its object is something external and independent. Yet, through the
labour of experience, it discovers that this object is not truly separate but (1) by consciousness itself.

The apparent duality of subject and object is thus sublated in the dialectic, revealing that knowledge is not the passive reception of an
external truth but an active process in which consciousness shapes and (2) its own reality.

This mevement unfolds through a series of contradictions, in which each stage of consciousness, believing itself to have attained
certainty, encounters its own inadequacy. The master-slave dialectic exemplifies this: self-consciousness seeks recognition from
another, yet in asserting its dominance over the other, it paradoxically (3) its own freedom.

The master, in reducing the slave to a mere instrument, deprives himself of a fully realized recognition. Meanwhile, the slave, through
labour and self-transformation, attains a deeper awareness of autonomy, demeonstrating that freedom is not given but achieved
through negation and (4).spirit (Geist) emerges as the reconciliation of these conflicts—not a static substance but a dynamic
process of self-realization. Spirit unfolds historically, manifesting itself{(5) in institutiens, culture, and philosophy, gradually moving
toward absolute knowing. This historical progression is not linear but dialectical, driven by the negation of old forms and the
emergence of new ones.

Use the appropriate form of the verb “Undermine"” (3)
were undermine
undermined

are undermining
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Q.No: 115 In the following question, & sentence with a blank is given, followed by five words labeled (1), (2), (3), (4), and (5).
Choose the word that fills the blank appropriately in the context of the passage.

The truth of the self-conscious individual lies not in its immediate certainty, but in the dialectical movement of its becoming.
Consciousness, in its pursuit of knowledge, initially assumes that its object is something external and independent. Yet, through the
labour of experience, it discovers that this object is not truly separate but (1) by consciousness itself.

The apparent duality of subject and object is thus sublated in the dialectic, revealing that knowledge is not the passive reception of an
external truth but an active process in which consciousness shapes and (2) its own reality.

This mevement unfolds through a series of contradictions, in which each stage of consciousness, believing itself to have attained
certainty, encounters its own inadequacy. The master-slave dialectic exemplifies this: self-consciousness seeks recognition from
another, yet in asserting its dominance over the other, it paradoxically (3) its own freedom.

The master, in reducing the slave to a mere instrument, deprives himself of a fully realized recognition. Meanwhile, the slave, through
labour and self-transformation, attains a deeper awareness of autonomy, demonstrating that freedom is not given but achieved
through negation and (4).spirit (Geist) emerges as the reconciliation of these conflicts—not a static substance but a dynamic
process of self-realization. Spirit unfolds historically, manifesting itself(5) in institutions, culture, and philosophy, gradually moving
toward absolute knowing. This historical progression is not linear but dialectical, driven by the negation of old forms and the
emergence of new ones.

Use the appropriate word according to the context of the passage.(4)

Yield

Detachment

Retraction

Q.No: 116 In the following question, a sentence with a blank is given, followed by five words labeled (1), (2), (3), (4), and (5).
Choose the word that fills the blank appropriately in the context of the passage.

The truth of the self-conscious individual lies not in its immediate certainty, but in the dialectical movement of its becoming.
Consciousness, in its pursuit of knowledge, initially assumes that its object is something external and independent. Yet, through the
labour of experience, it discovers that this object is not truly separate but (1) by consciousness itself.

The apparent duality of subject and object is thus sublated in the dialectic, revealing that knowledge is not the passive reception of an
external truth but an active process in which consciousness shapes and (2) its own reality.

This mevement unfolds through a series of contradictions, in which each stage of consciousness, believing itself to have attained
certainty, encounters its own inadequacy. The master-slave dialectic exemplifies this: self-consciousness seeks recognition from
another, yet in asserting its dominance over the other, it paradoxically (3) its own freedom.

The master, in reducing the slave to a mere instrument, deprives himself of a fully realized recognition. Meanwhile, the slave, through
labour and self-transformation, attains a deeper awareness of autonomy, demeonstrating that freedom is not given but achieved
through negation and (4).spirit (Geist) emerges as the reconciliation of these conflicts—not a static substance but a dynamic
process of self-realization. Spirit unfolds historically, manifesting itself(5) in institutiens, culture, and philosophy, gradually moving
toward absolute knowing. This historical progression is not linear but dialectical, driven by the negation of old forms and the
emergence of new ones.

Identify the type of the pronoun. (5)
Demenstrative proneun
Reflexive pronoun

Interrogative pronouns

Q.No: 117  Choose the correct meaning of Idiom "To oil the hinges of silence".

To bribe someone to remain quiet

o prevent secrets from being expose



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

To gradually break uncomfortable silence

To speak diplomatically in tense moments

Q.No: 118  Choose the correct option to complete the sentence.
Do you think it is going to this afternoon?
reign

raign

rein

Q.No: 119 Select the most appropriate option to fill in the blank.
The beggar was blind ___ one eye.

at

on

Q.No: 120 Choose the correct indirect speech form of the following sentence.
rRoshan says, "I have completed my homework."
Roshan said that he had completed his homework.

Roshan says that he had completed his homework.

oshan says that he has completed his homework

Roshan said that he has completed his homework.

Q.No: 121  Select the most appropriate option to improve the bold part of the sentence.
| am not used with this kind of work.

about this kind of work
at this kind of work

for this kind of work
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Q.No: 122 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. Feminism began as a fight for women's suffrage and then expanded to include social discrimination, workplace inequalities and
reproductive rights.
2. Nevertheless, the movement received significant support from progressive thinkers who believed in gender equality and the
dismantling of patriarchal structures.
3. Conservatives viewed the femninist movement as threatening to family values, with fears that women would abandon traditional
roles as wives and mothers.
4. The evolution of feminism has been a transformative journey, reflecting changing societal attitudes and the struggles for
gender equality.
3-4-2-1
g 00000000
2-3-1-4

4-1-3-2

Q.No: 123 Choose the correct indirect speech form of the following sentence.

The labourers said to the contractor, "Did you ask the manager when we are going to receive our remuneration that has been
pending for the last three months?"

The labourers asked the contractor if he asked the manager when they were going to receive their remuneration that had been
pending for the previous three months.

The labourers asked the contractor if he had asked the manager when they are going to receive their remuneration that was pending
for the previous three months.

The labourers asked the contractor if had he asked the manager when they are going to receive their remuneration that was pending
for the last three months.

he labourers asked the contractor it he had asked the manager when they were going to receive their remuneration that had bee
ending for the previous three months.

Q.No: 124  Select the one-word term for:
" A brief note or explanation added alongside a diagram or passage to provide clarity or context.”

Annotation
Footnote

Glossary

Q.No: 125  Choose the correct one-word substitution for:
A place where aircraft are kept

Dockyard

Depot

Hangar

Barracks

Q.No: 126  Choose the antonym of ‘affluent”:
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Wealthy

Rich

Prosperous

Q.No: 127 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. Franklin hypothesized that lightning was a form of electrical discharge.
2. Franklin flew a kite made of a silk string and attached a metal key to it during a storm.
3. He wanted to prove this by conducting an experiment to capture the electrical charge from a thunderstorm.

4, As the storm approached, the kite was struck by lightning, and the metal key conducted the electrical charge.

1-2-3-4

1-2-4-3

1-4-3-2

Q.No: 128  Select the synonym of Vigilant.
Inattentive

Sleepy

Aleri]

Careless

Q.No: 129  What does the idiom ‘Go the extra mile’ mean?

Work half-heartedly

ork harder than expecte

Stay idle

Leave midway

Q.No: 130 Convert the sentence provided below from its passive voice structure to an active voice structure:
It is believed that the minister will announce the new reforms next week.

Peaple think the reforms have already been announced.

eople believe that the minister will announce the new reforms next week

The new reforms are announced by the minister.

It was believed that the reforms would be announced.

Q.No: 131 Choose the correct indirect speech form of the following sentence.
Rajesh says to Malini, "We did not like the dance last year."

Rajesh tells Malini that they had not liked the dance the previous year.

ajesh tells Malini that they did not like the dance the previous year
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Rajesh told Malini that they did not like the dance last year.

Rajesh told Malini that they had not liked the dance the previous year.

Q.No: 132 Select the most appropriate option to improve the bold part of the sentence.
The teacher explained him the topic.

taught him the topic

told him the topic

xplained the topic to hi

explained to him the topic

Q.No: 133 Choose the correct direct speech form of the following sentence.

He asked me whether | had taken the medications.

He said, "Whether you take the medications?"

e said, ' Did you take the medications?
He said, "Did | take the medications?"

He said, "Did you took the medications?"

Q.No: 134 Change the following from active to passive:
Peaple believe that the company will launch the new product before the end of this fiscal year.

The company believes to launch the product before the end of the fiscal year.
The new product is believed to be launched before the fiscal year ends.

It has been believed that the new product will launch this year.

115 believed that the company will launch the new product before the end of this fiscal year

Q.No: 135 Select the most appropriate option to fill in the blank.
The soldier laid down his life ____ the nation.

10
by

with

Q.No: 136  Select the most appropriate option to improve the bold part of the sentence.
He said me a lie.

told me a lie

said to me lie

said lie
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Q.No: 137  Identify the word in this sentence that contains an error.

The keys are inside the table drawer.

keys

table

inside

Q.No: 138  Select the correct passive form of the given sentence.
"The chef will prepare the meal by noon."

he meal will be prepared by the chef by noon

The chef will be prepared the meal.
The meal would be prepared by noon.

The meal will prepared by the chef by noon.

Q.No: 139 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select ‘No
substitution required’.
Each of the candidates have submitted their documents for verification.

had submitted their document

Mo substitution required

is submitted their documents

Q.No: 140  Choose the antonym of ‘commend”:

Praise

Approve

Applaud

Q.No: 141 Fill in the blank with appropriate parts of speech.
We spent an day at school yesterday

enjoyable

enjoying

enjoyment

Q.No: 142  Choose the correctly spelt word:

Mischievous

Mischievious


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Mishevious

Q.No: 143 Select the one-word term for: “Someone who is consistently excluded or ignored by a community due to lack of trust or popularity.”

Dissenter

Moble

Loyalist

Q.No: 144 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select “No
substitution required’.
The research paper was full of errors because the data_is not verified by any expert.

has not been verified

is not being verified yet

Mo substitution required

Wwas not verired

Q.No: 145  Select the most appropriate option to improve the bold part of the sentence.
She said that she will go to market later.

shall go

could go

can go

Q.No: 146  Choose the correct one-word substitution for:
“Property inherited from one's father”

Matrimony
Autocracy

Testimony

Q.No: 147 Choose the most suitable option to replace the underlined part of the sentence. If the sentence is already correct, select ‘No
substitution required’.
If | was you, | would consult a specialist.

Mo substitution required

am you

would be you

WETE o0

Q.No: 148  Select the synonym of Obsequious.

Defiant
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Proud

Submissive

Q.No: 149  Select the most appropriate opticn to fill in the blank.
He is good ____ mathematics.

by

Q.No: 150  Choose the correct sequence to form a meaningful sentence:
(&) very interesting (B) is reading (C) books (D) fiction

BDCA

BADC

BACD

Q.No: 151  Find the antonym of "Wilt'.

Cruel

Merciless

Strict

Q.No: 152 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. It cut off oxygen and prevented the usual decay caused by air, moisture, and bacteria.
2. The excavation of Pompeii provided a remarkably well-preserved glimpse into life in ancient Rome.
3. When the eruption occurred, a thick layer of hot ash and pumice rapidly buried the town.
4. Unlike other ruins, Pompeii remained frozen in time due to Mount Vesuvius' sudden eruption.
1-2-4-3
3-1-4-2

4-2-3-1

Q.No: 153  Which sentence contains a word that is spelled incorrectly?
The scientist explained the hypothesis behind the experiment clearly.
The new hybrid model of the car is both fuel-efficient and stylish.

The therapist used hypnosis to help the patient recall past memories.

t's important to maintain hygenic practices to prevent illness
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Q.No: 154  What does the idiom ‘Take to task’ mean?

Congratulate

Reward

Praise

Q.No: 155  Fillin the blank with an appropriate adverb.
The food is good.

cautiously

boldly

annually

Q.No: 156  Select the most appropriate option to improve the bold part of the sentence.
He has much works to finish.

5 ot of work
plenty warks
many works

lot of tasks

Q.No: 157  Rearrange the following steps of the Union Budget preparation in the correct order:
P. The finance minister presents the budget in Parliament
Q. The Ministry of Finance collects estimates from various ministries
R. The budget is passed by both houses of Parliament
S. The Cabinet approves the final draft of the budget

P-Q-5—R

1 =5 —+P-=-R

Q.No: 158 | Arrange the sentence parts:
(&) should follow (B) traffic rules (C) strictly (D) everyone

DCAB
DBCA

DACBE

Q.No: 159  Find the incorrect part of the sentence:
One must keep his promises.

one

No error
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nust keep

his promises

Q.No: 160 Identify the part containing a grammatical or structural error:
The behaviour of these students leave much to be desired.

The behaviour
of these students

to be desired

Q.No: 161  Identify the antonym of 'Quell’.
Suppress

iC3

Silence

Agitate

Q.No: 162  Select the synonym of Pinnacle.
Base
Decline

Bottam

Q.No: 163  Convert the sentence provided below from its passive voice structure to an active voice structure:
The groceries are delivered to the house by the shopkeeper every evening.

he shopkeeper delivers the groceries to the house every evenin
The groceries were delivered to the house by the shopkeeper.
The shopkeeper had delivered the groceries to the house.

The groceries are being delivered to the house every evening.

Q.No: 164 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. The advancements in science led by figures like Copernicus, Galileo and Descartes also questioned its established views of the
universe.

2. It encouraged the growth of secularism and individualism, drawing inspiration from the classical works of ancient Greece and
Rome.

3. The invention of the printing press further accelerated this shift, making books more accessible and promoting literacy and
individual thinking.

4. The Renaissance ushered in a new era that questioned the monopoly of the Roman Catholic Church on knowledge and spiritual
guidance.

4-2-1-3
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2-1-4-3

3-2-1-4

Q.No: 165  Find the incorrect part of the sentence:
MNeither Ram nor his brothers is reliable.

Meither Ram

i reflablel

No error

nor his brothers

Q.No: 166  ldentify the error in the sentence.

He has saw the movie three times already.
movie
three

already

Lo

Q.No: 167  Find the incorrect part of the sentence:
She is junior than me.

She is

unior tha

No error

me

Q.No: 168  Select the most appropriate option to fill in the blank.
He is afraid snakes.

i

with

for

Q.No: 169  Choose the correct meaning of Idiom "Bite the bullet".

ndure something painfu

Make a bold plan
Speak without thinking

Tell a secret

Q.No: 170  Select the correct passive form of the given sentence.
"The manager will approve the application."”
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The application has been approved.

he application will be approved by the manager
The application was being approved.

The application is approved by the manager.

Q.No: 171 Choose the correct direct speech form of the following sentence.
They said that they had already completed their homework.

They said, "We already completed their homework."

They said, "We have completed our homework."”

They said, "We have already completed homework of ours."”

hey said, "We have already completed our homework.

Q.No: 172  Find the incorrect part of the sentence:
She is more smarter than her sister.

No error
Tore SMalrtef
She is

than her sister

Q.No: 173 | Arrange the sentence parts:
(&) to submit (B) asked him (C) the repert (D) the manager

DABC

BACD

DCAB

Q.No: 174  Identify the word that is not correctly spelled.

Aberration

Discrepancy

Insurmountable

Q.No: 175  ldentify the word in this sentence that contains an error.

She arrived to the office early this morning.
w0

morning
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Q.No: 176  Select the correct spelling of a word meaning 'a long adventurous journey'.

Odessay
0a W]
Odessy

Oddysey

Q.No: 177  Select the most appropriate option to fill in the blank.
The police looked the matter.

for
by

at

Q.No: 178  Select the correct active form of the given sentence.
"The letters were delivered by the postman.”

The postman had delivered the letters.
The postman delivers the letters.

The postman has delivered the letters.

he postman delivered the letiers

Q.No: 179  Select the most appropriate homonym.
The old fort was taken by storm.

Assault

Rain

Breeze

Q.No: 180  What does the idiom ‘Not one’s cup of tea’ mean?

Impaossible task

Very easy

Something enjoyable

Q.No: 181  Choose the antonym of ‘tangible’:

Invisible
Real

Definite
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Q.No: 182  Choose the sentence that uses a homonym of the underlined word:
He had to tear the envelope to open it.

The comedian caused the audience to tear up with laughter.
He found a small tear in the corner.
Please don't tear the paper again.

She used tape to fix the tear on the bag.

Q.No: 183  Select the most appropriate option to improve the bold part of the sentence.
He denied to help me.

f1elp to mej
for helping me
helping me

to helping me

Q.No: 184  Select the synonym of Cacophony.

Harmony

Order

Silence

Q.No: 185 Choose the correct indirect speech form of the following sentence.
Rashmi said to Reshma, "Mahima was dancing on the floor when she was called by her mother.”
Rashmi told Reshma that Mahima had danced on the floor when she had been called by her mother.

Rashmi told Reshma that Mahima had been danching on the floor when was called by her mother.

ashmi told Reshma that Mahima had been dancing on the floor when she had been called by her mother

Rashmi told Reshma that Mahima was dancing on the floor when she was called by her mother.

Q.No: 186  Choose the sentence that uses a homonym of the underlined word:
The_ lead pipes were replaced due to safety concerns.

The general will lead the troops into battle.

Exposure to lead can cause health issues in children.

he old house still had lead in its plumbing system

They tested the soil for traces of lead.

Q.No: 187  ldentify the part containing a grammatical or structural error:
It is high time you start studying seriously.

studying seriously
It is high time

No error


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eoogle Play

Q.No: 188  Choose the antonym of ‘magnanimous’:
MNoble

PELLY]

Forgiving

Generous

Q.No: 189  Choose the correct one-word substitution for:
“A facility equipped with instruments for studying stars, planets, and other celestial bodies”

‘q

Greenhouse

Archive

Q.No: 190  Choose the correct option to complete the sentence.

She tied the belt tightly around her
waste
weist
west

W IS

Q.No: 191 | Select the most appropriate option te fill in the blank.
The soldiers died their country.

at

by

Q.No: 192  Convert the sentence provided below from its passive voice structure to an active voice structure:
The house is cleaned by her every morning before breakfast.

She is cleaning the house every morning before breakfast.

he cleans the house every morning before breakfast

Wiw

Q.No: 193 [,2
Create

Alter
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Hide

Uestroy

Q.No: 194  Choose the correct direct speech form of the following sentence.
He told that when they had reached the station, the train had already left.

He said, "When we have reach the station, the train had already left.”

e said, MWhen we reached the station, the train had already left.
He said, "When we were reaching the station, the train was already leaving."

He said, "When we reach the station, the train has already left.”

Q.No: 195 \What is the place for ammunition and weapons called?

Gallery

Library

Laboratory

Q.No: 196  Select the most appropriate option to improve the bold part of the sentence.
The man is blind of one eye.

with one eye

2

from one eye

Q.No: 197  Select the correct active form of the given sentence.
"The hall is being decorated by the staff."

‘UUU

Q.No: 198  [2

W‘UU
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Q.No: 199  Choose the correct indirect speech form of the following sentence.

They said, "They had a very good habit."
They told that we had a very gocd habit.

They told that they had had a very good habit.

&

hey told that we had had a very good habit

Q.No: 200 Which of the given options is the most logical sequencing of the following sentences to form a meaningful paragraph?

1. He has inspired millions through his speeches and writings.
2. He came to be known as the "Missile Man of India" for his contributions.
3. In the year 2002, he became the President of India.

4. Dr. A.P.J. Abdul Kalam worked as a scientist at ISRO for forty years.

P
P
P
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